Drawing / plotting quadratic graphs
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rUse the table of values to help you plot the following quadratic graphs:

a)y=x%-1 b)y =x? +x
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Exam question:
Complete the table of values for y = x? + 5x — 3

X -3 -2 -1 0 1 2 3
y -9 9|(-7]-3|3 11 | 21




Estimating solutions from graphs 61b
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rUse the quadratic graphs shown to...

This is the graph of y = x? — 4 This is the graphof y = x2 + 1

‘ estimate the solutions of: i estimate the solutions of:

: a)x?—4=3 ; c)x?+1=3

] . x=-2.60r | 3 - x=-13o0r !
T ATl x=26 | z .XZ23

: b) x2 — 4 = —2 : d)x+1=6

x=-14o0r | 1 @ X=-2or

x=1.4 § : : x=3
This is the graphof y =y = x?2 +3x — 6 This is the graph of y = 2x — x?

2 estimate the solutions of: ! estimate the solutions of:

- ———1— e)x*’+3x—-6=0 i A i e)2x —x? = -3
: . x=-440r | - - x=-tor |
X214 ] e XZ3
f)x?+3x =2 3 f)2x —x2+5=0
. x=-360r E - x=-150r
. x=0.6 § : . x=35 ;

This is the graphof y = y = x? + 2x — 4 This is the graph of y = 4x — x?

estimate the solutions of: i estimate the solutions of:

2

* e)x?+2x—4=4 e)dx —x*=0

j § =-4 or f S 6 HHHE . x=0or §
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TR T P Y —— fx*+2x=4 : fldx —x24+12=0
: g x=-3.20r | . § X =-2 or §
L : % X.=.1.2 § i | X.=.6 é
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Exam question:
This is the graph of y = %xz —4

Use the graph to estimate the solutions of:

1
5x2—4=—2

XxX=-20rx=2
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By plotting the graphs, estimate the solutions of these simultaneous equations:
a)y=x2 and y=2x b)y=x?—-7and y=3—x cJy=x*+2x—4and y=4x+3
x |[—2|-1 1] 2 x|-110 ]| 1] 2 4 x |—-21-1] 0| 1

0 3 3 2
y|4[1]0]1 (419 y|-6[-7]-6]-3|2(9 y [-4]-5|-4| 1[4 |11
y|-4]-2]0 6 y|l4[3]2]1]|0 11
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 x=0,y=0orx=2,y=4 ; | x=27,y=03 | | x=-1.8,y=-43

dy=x?—x—1 and y = 3x e)y=x2-3 and y=—x fly=x2—2 and y=—-x—1

x|-2|-1]0]|1]|2]3 x|-2|-1]0]|1]|2]3 x|-2|-1]0]|1]|2]3
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y1-6/-310/316[9 y1211101-1]-2]-3 y|110[-1]-2(-3|-4
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=| Exam question:
Estimate the following solutions of the two
equations simultaneously using the graphs given of:
y=x2—4andy=—x

x=-26,y=260rx=1.6,y=-1.6




